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- (1) Link BD is nﬁade of brass (E=15x 1(')6 psi)andhas a cross—sectional

area of 0. 50m2 (see Flgure 1 mk gE is made of aluminum

(E= 10><105 .psi ) and also has s “Sedtional area of 05012 R
Determme the maximum fo c P be applied Vertlcally at p01nt :

‘A if the deﬂectlon of A is not to exceed 0.015in. (25%)

Figare '  50in

(2) For the parabohc semlsegment w1th y f x)= h (1 ——) shown in.

Flgure 2 determine (a) the moime inertia 7, (13%), and (b) the

moment of i inertia Iy (13.£/ﬂlJ *._._! e

Figure 2
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(3) The beam is subj ected to the distﬁbuted 1oading as shown in Figure 3.
Draw (a) the shear force chagram (12%), (b) the bendmg moment
diagram (13%). et

1

Figure 3

(4) The cantllever beam AB shown in the Flgure 4 is subjected to a
tr1angular load act;mg t_hroughout_one-half of its length and a
concentrated load acting at the free énd' Determine (a)'th-e'

deflection curves ( 15%), d obtalp ﬁb) the deﬂectlon Sp at pomt B-.

5%) (c) the slope 6y at pglntl'é %j/o) El is constant
]
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